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Time allowed: 20 Minutes

PHYSICS SSCHi

SECTION — A (Marks 12)

NOTE:-

Section—-A is compulsory. All parts of this section are to be answered on the question paper itself.

It should be completed in the first 20 minutes and handed over to the Centre Superintendent.

Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C/D. Each part carries one mark.

(1)

(iii)

(iv)

(viti)

(ix)

(xi)

{xii)

The product of frequency and time period is equal io

A v B. ] C.
Bel is the unit of

A Intensity level of a sound B.
C. Loudness of sound .D.

The critical angle of Diamond is

Pitch of sound

Quality of sound

A 42° B. 48° C. 45° D. 24°
In 1776 AD, an ltalian scientist invented the chemical battery.
A Coulomb e Newton
C. Alexandro Volta D. Joule
The specific resistance of copper is
A 1.690m B 2.750m C. 10.6Qm D 1.620m
The unit of Current is known as :
A Farad B. Ohm C. Ampere D. Volt
The number of magnetic lines of force passing through any surface is known as through
that surface.
A Electric flux B. Magnetic flux
C. Electric flux density D. Magnetic flux density
When a neutron emits a fJ - particle, it changes into a
A. Proton B. Electron  C. Positron D. o -particle
Measuring unit of Nuclear Radiations is
A Hertz B. Coulomb C. Rem D. Farad
A and B are the two inputs of a NOR gate. lts output would be 1 when
A A=1,B=1 B. A=0,B=1
C. A=1,B=0 D. A=0,B=0
is fitted in a telephone receiver.

A Electromagnet B. Diaphragm
C. Both Aand B D. Permanent maghet
If the length of a simple pendulum is halved, its time period T will become
A L I c. 2T o. 2T
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Time allowed: 2:40 Hours

PHYSICS SSC-II

Total Marks Sections B and C: 53

NOTE:- Answer any eleven parts from Sectlon ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

Note:

Q.3

Attempt any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines.

(vii)
(viii)
(ix)

(x)
(xi)

(xii) .

(xiii)

(xiv)
(xv)

L

SECTION ~ B (Marks 33)

How can the radio waves transmission be heard in such areas where waves cannot reach directly?

A body of mass 0.5 kg is attached to a spring placed on a horizontal frictionless surface.

If the spring constant of this spring is 8 N»™

, then find the time period of the body.

Why is silent whistle silent for humans but not for dogs? '

Give any three medical uses of ultrasonics:

What are the Jaws of Refraction?

An object is placed at a distance of 30 ¢m from a concave mirror. Find the nature and position of the
image if focal length of mirror is 5 ¢m.

State Coulomb's law and give its mathematica! form.

Why is some conducting material used in the tyres of an aero-plane?

If 0.5 C charge passes through a certain surface in 10 seconds, then find the current flowing
through this surface?

Why does the resistance of a conductor increase with the rise of its temperature?

State Fleming's left hand rule.

What is meant by Mutual induction?

Define the following:

a. Isotopes

b. Radio isotopes

What is meant by Depletion Region?

Define Infermation Technology.

SECTION — C (Marks 20)

—— 28A 1307 {L) ——

(11 x 3 = 33)

Attempt any TWO questions. All' questions carry equal marks. {2 x 10 = 20)

Define Loudness of sound. What are the factors on which loudness of scund depends? {06)

~ Iffive waves pass through a point of a medium in 10 seconds, what is its frequency

- and time period. If its wavelength is 5 cm, calculate the wave speed (velocity). (04)
How are resistances connected in series? Describe the characteristic features of '
this combinaticn. ‘ . (04)
Two point charges g, = 10uC and g, =5uC are placed at a distance of 150 cm.
Find the coulomb’s force between them. What is the direction of this force? = _ (04)
Define the following:
() Step-up transformer (01)
(if) Step-down transformer _ o (01)
Define Natural Radicactivity. Write down any five properties of Gamma-rays. o  (06)
How does'Semi-conductor diode act as a rectifier? (04)
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Roll No. | ( 4 } Answer Sheet No.

Sig. of Candidate. Sig. of Invigilator.

PHYSICS SSC-li
SECTION - A (Marks 12)

Time allowed: 20 Minutes

NOTE:- Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
it should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C/ D. Each part carries one mark.

(i)

(i)

(vi)

(vii)

(viii)

(ix)

The intensity of the faintest audible sound is

A, 107 B. 10° C. 10 % D. 107"

If the mass of bob of a simple pendulum is doubled,its time period

A. is doubled B. Becomes four times
C. Remains the same D. None of these

The critical angle of Glass is

A 42° B. 49° C. 24° D. None of these
The focal length of a Concave Mirror is

A Positive B. Negative C Greater D. None of these
The unit of electric intensity is
A Coulomb B Ohm

C. Farad D. None of these

The distance between two point charges is 20 cm. If the distance is reduced to 10 cm, the
Coulomb force between those would become .
A Half B. Four times C. Two times D. One fourth

As the temperature of a conductor rises, its resistance

A increases B. Decreases

C. First increases then decreases D. Does not change

If the magnetic flux through a soleneid or a coil is changing, is induced in it.
A Magnetic flux B Electric flux C. An emf C. Current

The shape of magnetic lines of force in case of a straight current carrying conductor is

A. Eliiptical B. Triangular C. Rectangular D. Circular

If a 3 - particle is emitted by an element then s X ~ ’f—>

A Ly B. Ay C. oy D LY
There are tubes or electron guns in a colour television set.

A Two B. Four C. Five D. Three
In an N-type crystal, the majority carries are

A Holes B. Free electrons

C. Protons D. Positron

For Examiner’s use only:

Total Marks: l 12
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Q-
PHYSICS SSC-II

Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE:- Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION - B (Marks 33}

Q.2 Answer any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. {11 x3=33)
(i) Derive the equation v =fA
(i) What is the difference between Mechanical waves and Electromagnetic waves?
(i) Define Pitch of sound. Why are the sounds of ladies and children shriller than that of men?
(iv) Calculate the wavelength of sound produced by a tuning fork of frequency 512 Hz,

whereas the speed of sound is 340ms™".

{v) Why is the concave mirror used for shave or make up?

{vi) The real depth of a swimming pool is 2 metre. What is the apparent depth of the pool if the
refractive index of water is 1.337

{vii) Why is a metallic chain of a petrol supply tanker made to roll on the road?

(vii)  The capacitance of a parallel plate capacitor is 100 pF. If the potential difference between its
plates is 50 volts then find the quantity of charge on its plates.

(ix) State Ohm's law. What are its limitations?
(x) Define the following:
a. Magnetic flux
o Faraday's law of Electromagnetic induction
(xi) Write down the uses of radic-isotopes in the field of Agriculture.
(xii) Find the energy produced from 20 kg of carbon if it is completely changed into energy.
(i) How is a P-type semi-conductor prepared?
(xiv)  What is Central Processing Unit (CPU)?
(xv) What is NOR gate?

SECTION — C (Marks 20)

Note: Attempt any TWO questions. All questions carry equal marks. {2 x10=20)
Q.3 a Define intensity of sound. Derive an equation for sound level using Weber Fechner law. (04)
b. The time period of a simple penduium is 2 second. What will be its length on the Earth?
What will be its length on the moon if 9, = %. (04)
c. Write down the two conditions essential for the totai internai reflection. (02)
Q.4 a. How are capacitors connected in parallel? Write down its characteristic features. (04)
b. An electric motor is running with 220 volts and 1.5 A current. Find the energy supplied by it in
kilowatt-hour in 5 hours. (04)
c. What is the difference between Mutual induction and Self induction? (02)
Q.5 a. Write a note on Nuclear fission. (08)
b. Explain Word processing. (04)
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